
3-Digit Minus 1-Digit Subtraction (D)
Name: Date: Score:

Calculate each difference.

498 − 9 =
597 − 2 =
940 − 4 =
713 − 8 =
871 − 5 =
204 − 4 =
906 − 9 =
181 − 2 =
240 − 4 =
908 − 8 =
308 − 8 =
459 − 4 =
457 − 6 =
132 − 4 =
768 − 8 =
142 − 5 =
892 − 9 =
477 − 8 =
743 − 9 =
412 − 2 =
194 − 6 =
967 − 9 =
233 − 8 =
295 − 9 =
652 − 3 =

955 − 1 =
837 − 8 =
345 − 1 =
584 − 9 =
956 − 1 =
324 − 5 =
202 − 3 =
667 − 6 =
447 − 6 =
961 − 3 =
694 − 7 =
523 − 9 =
260 − 5 =
211 − 8 =
516 − 5 =
625 − 3 =
564 − 3 =
834 − 7 =
217 − 1 =
977 − 7 =
425 − 7 =
329 − 9 =
236 − 8 =
131 − 4 =
342 − 2 =
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